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Wwﬁ'@?mﬁ 3T gfafafer, 3raTT1 F, | | In a business summit, eight representatives, viz. F,
G, H, 1 J,K L3k M@ i srud@@c@®:ad || G, H, |, J, K, L and M are representing different
%, ﬁ'@ ?31#@111 AT, TaaTTel, AATIAAT, STHFT, countries, viz Indonesia, Africa, Portugal, Romania,
A3, &1 3R Raecaels, AfFer e ¢ B =4t | | Jamaica, Samoa, Iran and Switzerland, but not
A A g1 T goft T JATHR AT F TR AR g A necessarily in the same order. All of them are sitting
IR HG T 453 K, ) $ a0 AT TAT RIS | | around a circular table facing the centre. K sits third
T H3RM 3R 3T Frsreas T2 oft gdana &7 to the left of J. H and M and also their immediate
yfafaf@ca gt FA &1 L 3T Wﬂﬂ'ﬂ?ﬁaﬁﬁ'ﬂ? neighbours do not represent Portugal. Only one
i o v caiad do1 ¥ QAT A IBFTF || person sits between L and the representative of
YA v g8 & Aheddm us1HI &1 HA aY STA®T | | Portugal. The representatives of Romania and

IRAE FTfaffOca FIargl F 3R Africa are immediate neighbours of each other. H
HAAT HT AT Hlet aTel STTFd » ALT Fad | | represents neither Jamaica nor Romania. Only one
U ST 43T &1 F AT oY TeTaTTel AT 3ThYRT HT person sits between F and the one who represents

yRfART A8 FaT 1 H, M F a9 & Y FAT I || Samoa. F does not represent either Portugal or
doTgI M %ﬁﬁgﬂmm%l )ITaY | | Africa. H sits third to the right of M. M represents
H T M &T idead 92 481 ¥ g safea o Switzerland. J is not an immediate neighbour of
SRR FTuRA AT Ftart, | F1AFcarm 751 | | either H or M. The one who represents Indonesia is
vk ST FvRRR FdadwaFaddE16 | | an immediate neighbour of J. Three people sit

T &Y IAaTTel AT $S1ATRIAT 7 YfafdAfeica AT FTT@T | | between M and the representative of Iran. G is not

o representing either Portugal or Indonesia.
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In a business summit, eight representatives, viz. F,
G, H, 1, J, K L and M are representing different
countries, viz Indonesia, Africa, Portugal, Romania,
Jamaica, Samoa, Iran and Switzerland, but not
necessarily in the same order. All of them are sitting
around a circular table facing the centre. K sits third
to the left of J. H and M and also their immediate
neighbours do not represent Portugal. Only one
person sits between L and the representative of
Portugal. The representatives of Romania and
Africa are immediate neighbours of each other. H
represents neither Jamaica nor Romania. Only one
person sits between F and the one who represents
Samoa. F does not represent either Portugal or
Africa. H sits third to the right of M. M represents
Switzerland. J is not an immediate neighbour of
either H or M. The one who represents Indonesia is
an immediate neighbour of J. Three people sit
between M and the representative of Iran. G is not
representing either Portugal or Indonesia.
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Iran (G)
Portugal
() H Samoa
Indonesia K
(1) Africa
: F Romania
Jamaica (L)
M
Switzerland

Who among the following represents Africa?
a) Q

b) R

c)T

dV

e) Cannot be determined

Who among the following represent immediate neighbours
of V?

a)P, Q

b)P, S

c)T,W

d)P,R

e) P and the representative of Jamaica
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Portugal
()

Indonesia

()

Jamaica (L)

Iran (G)
H Samoa
K
Africa
F Romania
M
Switzerland

Which of the following is true regarding W?

a) W sits second to the right of P.

b) W represents Romania.

c) W sits between Q and the representative of Switzerland.
d) Only one person sits between W and the representative of
Africa.

e) None is true

How many persons sit between S and the representative of
Romania, when counted anticlockwise from S?

a) None

b) One

c) Two

d) Three

e) Four
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Iran (G)
Portugal
() H Samoa
Indonesia K
(1) Africa
< F Romania
Jamaica (L)
M
Switzerland

Which of the following is true?

a) S represents Portugal.

b) Only one person is sitting between the representatives of
Romania and Jamaica.

c) The representative of Africa is an immediate neighbour
of W.

d) One person sits between Z and the representative of
Portugal.

e) None is true
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mah-—crA B,C,D,E,F3TGHTX, Y IR
z#qaﬁ%aﬁtaﬁﬂm#ﬁfﬂr—crwmﬁ
¥ 3 AR, tarer RemsfT,
SR, [aaa, uigeer, AR 3ix
fheaER (ST A8T fo agI3m=n) | T &Y
HicsT # A § HA &l 3R i F ST ST
g 9ed U1 C Th aFdRR g IR FraaT Y H
Yedi gl EUH © STl &1 E & °TY SlcsT
X 7 9go! aTed FTd S1Edl & A had Gl FTH
g ¢ s FiasT v A At ggard| B v
AT § 3R F & THTT Fidkst F sTel TodT
gl AP ZH AGT ST g1 IV FlelsT X &
Ted &, I T ar hereT Bomega € 3T &
a1 &1 39H A 1S Y N Frla Y A YadT
g, fraTa gt g

Seven friends A, B, C, D, E, F and G studied
in colleges X, Y and Z and are currently in
different professions, namely Medicines,
Fashion Designing, Engineering, Business,
Acting, Teaching and Architecture (not
necessarily in the same order). At least two
and not more than three friends had
studied in the same college. C is an architect
and studied in college Y. E is not a
businessman. Only G amongst the seven
friends studied in college X along with E. F is
an engineer and did not study in college Y. B
is an actor and did not study in the same
college as F. A did not study in college Z.
Those who studied in college X are neither
Fashion Designers nor teachers. None of
those who studied in college Y is a teacher.
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Seven friends A, B, C, D, E, F and G studied in
colleges X, Y and Z and are currently in
different professions, namely Medicines,
Fashion Designing, Engineering, Business,
Acting, Teaching and Architecture (not
necessarily in the same order). At least two
and not more than three friends had studied
in the same college. Cis an architect and
studied in college Y. E is not a businessman.
Only G amongst the seven friends studied in
college X along with E. F is an engineer and did
not study in college Y. B is an actor and did not
study in the same college as F. A did not study
in college Z. Those who studied in college X
are neither Fashion Designers nor teachers.
None of those who studied in college Y is a
teacher.
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Friend College EUhJ"_EEl Who amongst the following have studied in college Z?
A Y Fashion (a) B,A(b)C,F(c)B,D,F(d)A,D(e)D,F
B Y Actling
C L Architecture Which of the following groups represents the students of
D 7z Teaching collegeY?(a)C,E,G(b)A,C,D(c) A, B,C(d) D, B, C(e) None
& X Medicine of these
F - Engineering What is the profession of F ?
G X Business (a) Engineering (b) Business (c) Medicines (d) Acting (e) None of

these

Who amongst the following is in the profession of
Medicine?
(a) E (b) G (c) A (d) D (e) None of these

What is the profession of A?
(a) Teaching (b) Medicine (c) Business (d) Fashion
Designing (e) None of these



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

(1) If statement | alone is sufficient but statement Il alone is not sufficient.

(2) If statement Il alone is sufficient but statement | alone is not sufficient.

(3) If each statement alone (either | or Il) is sufficient.

(4) If even statement | and |l together are not sufficient.

(5) If both statement together are sufficient, but neither statement alone is sufficient.

(1) TS AT | 3Tehed TATH B, SiTeh S I 3Tehel UAATH g1 2l

(2) TTE HAT 11 THe GATH 8, AT hAT [ 3Tehed TATH T2 2

(3) TfE HAUT AheA (@T I AT AT AT 1) TITH 2

(4) AfE T e 1 3R 11 Tek Ty v Te T2 B

(5) TS ST HAT Teh AT TATH &, TI{ehT ShIg Rl HAhel TITH T2 21
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Is it 9 o'clock now?

I. After half an hour, the minute and the hour hands of the
clock will make an angle of exactly 90° with each other.

ll. Exactly 15 minutes ago, the hour and the minute hands of
the clock coincided with each other

st @

. 3T G & 91, Tel Y Ase i ae A ggarva gy &
ST 90° T HIUT JATUI |

gfadia. 81 15 fAeTe uge, ast i gve 3R fAse A
A1 39H # A @it oAt
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Which bag amongst P, Q, R, S and T is the heaviest?
. Bag Qs heavier than R and S. Bag T is heavier than only bag P.

Il. Only three bags are lighter than R. The weight of bag Q is 50 kg, which is 2 kg more than
bag R.

P, Q, R, S 3 TH { &leT a1 o1 wadt Y 32
S Q, RIS AHAFI o1 7, Faa Sorp A O B
gfadI. R A Fael ofieT o491 g &1 97 Q T TteT 50 FFaAT §, I AT R A 2 e AAF B
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How is M relatedto N ?
I. P, who has only two kids, M & N, is the mother-in-law of Q, who is sister-in-law of N.
Il. R, the sister-in-law of M, is the daughter-in-law of S, who has only two kids, M & N

M, N ¥ 5T YR Tefad g?
1. P, A Faa Y= § M 3R N, QFr I g, St N Y RAEeT-sa-ar ¢
2. R, M$I RAFeT-ga-af, s hrag ¢, s Faa Y a=a g, ma N
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What is the code for ‘mangoes’ in a code language ?

I. Inthat code language ‘Te Le Pa Na’ means ‘You eat many mangoes’ and ‘Le Na Da’ means
‘You sell mangoes’.

Il. In the code language ‘Ge Na Se La Le’ means ‘They eat bananas and mangoes’ and ‘Ne De
Le La’ means ‘Who others eat bananas’

TS T AT A 31 F v HT FAT e

;;g;ﬂgmfr XA T AT F1 37 ¥ 1319 FE A @A 3R S AT Er FrF 309 3197
d

2. FC HINT 7 'Ge Na Se La Le' &7 318 § '3 et iR AT WI 8" 3T 'Ne De Le La' FTHA 7
SE Y FHlT FeT @rar ¥
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(i) ‘P x Q" means ‘P is brother of Q.
(ii) ‘P — Q’ means ‘P is sister of Q'.
(iii) ‘P + Q’ means ‘P is father of Q.
(iv) ‘P + Q" means ‘P is mother of Q.

Which of the following represents ‘M is nephew of N’ ?
(QN-K+M(b)NxK M(c)N KxM(d)N-K+ M x
T (e) None of these

How is T related to D in the expression:H+T R-D?
(a) Nephew (b) Niece (c) Nephew or Niece (d) Data
inadequate (e) None of these

Which of the following represents F is daughter of W ?
()W R+F(b)WxRxF(c)W+RxF-T(d)W+R-F
+ T (e) None of these
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Which of the following symbols should replace question mark (?) in the given
expression in order to make the expressions ‘

"A>=D"and °F = C’ definitely true?

A=B=C?7D=<E=F
(a) = (b)y =
(c) = (d)
(e) Either=or=
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. Which of the following expressions is definitely true if the given expressions ‘R < P’
as well as ‘S > Q’ are definitely true?

(a) P>=Q=R<T<8 (b) E:-*'I':_:-R-“}Ej-{ﬁ-
) Q=>R<T=>P=§ (d) S>T=R>0Q>F
(e) None of these
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IRE 9T &Y HATATAR TFdd) 7 &6 § o
Y dF A B AT SHTFR IS F I th qav @
AT U W3l 9fFa13:p,Q,R, 5, TR VS
g 31 31 Ol F1 AW SfAor Y 3T g1 yfFa 2 A
A, B, C, D, E IR F 43 8 3R 37 gaft F1 @ 3
#Y I 21 sufaT, & 1S dox A cgaraT 7, v
IiFd A 38 TA+ T T 1 7@ g@il IfFd &
T AGET A 3T L1 S, QF g T A T
QR dST 1 AT AT s AT Q UfFa & sifam B aw et
¢l T AfFa ST AE QA 3RS, EF AR

T W o181 B 3R F & Aeg ey sufera

gl A BIRAN FUFTF IMABR T
43 81 B & [seasn w1 1 7@ 35 safFa
INETAPHFIT T AN FIF R ASTR. RART
fAean TSIl 8. ¢ AF T A gEY TUA W
?%ITW@D#WW%WH@T
|

Twelve people are sitting in two parallel rows
containing six people each such that they are
equidistant from each other.Inrow 1: P, Q, R, S, T
and V are seated and all of them are facing South.
Inrow 2: A, B, C, D, E and F are seated and all of
them are facing North. Therefore, in the given
seating arrangement, each member seated in a
row faces another member of the other row. S sits
third to the right of Q. Either S or Q sits at an
extreme end of the line. The one who faces Q sits
second to the right of E. Two people sit between B
and F. Neither B nor F sits at an extreme end of the
line. The immediate neighbour of B faces the
person who sits third to the left of P. Rand T are
immediate neighbours. C sits second to the left of
A. T does not face the immediate neighbour of D.
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Twelve people are sitting in two parallel rows
containing six people each such that they are
equidistant from each other.Inrow 1: P, Q, R, S, T
and V are seated and all of them are facing South.
Inrow 2: A, B, C, D, E and F are seated and all of
them are facing North. Therefore, in the given
seating arrangement, each member seated in a
row faces another member of the other row. S sits
third to the right of Q. Either S or Q sits at an
extreme end of the line. The one who faces Q sits
second to the right of E. Two people sit between B
and F. Neither B nor F sits at an extreme end of the
line. The immediate neighbour of B faces the
person who sits third to the left of P. Rand T are
immediate neighbours. C sits second to the left of
A. T does not face the immediate neighbour of D.
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Rowl. + PV §

rows? (a)S,D(b)Q,A(c)V,C(d)P,D(e)Q, F

R U Who amongst the following sit at the extreme ends of the
B D

:
Row? T CF AE

Who amongst the following faces S? (a) A (b) B(c) C(d) D (e) F

How many persons are seated between V and R? (a) One (b)
Two (c) Three (d) Four (e) None of these

P is related to A in the same way as S is related to B based on
the given arrangement. Which of the following is T related to,
following the same pattern?

(a) C (b) D (c) E (d) F (e) Cannot be determined

Which of the following is true regarding T? (a) F faces T. (b) V is
an immediate neighbour of T. (c) F faces the one who is second
to the right of T. (d) T sits at one of the extreme ends of the
line. (e) Q sits second to the right of T
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EG4BH T5 @ KSEDN £QZ5W3IC19*1B2S6

How many such consonants are there in the above sequence which are immediately preceded
by a symbol and immediately followed by a digit ?

g@ww#@ﬁmawm%mmmwmsﬁtmmwm
?

(a) One (b) Two (c) None (d) Three (e) More than three.

What should come in place of the question mark (?) in the following sequence ?
4H@, KDQ, ?, 9IS
(a) ZW1 (b) NQS (c) @8N (d) SW9 (e) None of these
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EG4BH 7T5a@a KSEDN £QZ5W3IC19*1B2S6

Which of the following is exactly in the midway between the ninth from left end and
the seventh from right end ?
ﬁmﬁf@aﬁ#aﬁamaﬂ?@aﬁaﬁ?mm?#maﬁﬂ;maﬁ#%?
(a) Q(b) Z (c) S (d) W (e) None of these

If the first fifteen elements are written in the reverse order then which of the following
will be seventh to the left of twelfth element from right end ?

aﬁqﬁwa—qﬁaﬁs—&wﬁﬁmm%aﬁmﬁﬁaﬁ#aﬁam
g B ¥ dRed dcd & I ¥ HIdd TATT 9 gen?
(a) 7 (b) @ (c) 5 (d) K (e) None of these



http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Ten students— A, B, C, D, E, F, G, H, | and J are sitting in a row
facing West.

l. B and F are not sitting on either of the edges.

Il. G is sitting to the left of D and H is sitting to the right of J.
lll. There are four persons between E and A.

IV. | is to the North of B and F is to the South of D.

V. Jis in between A and D and G is in between E and F.

VI. There are two persons between H and C.

G| BT- A, B, C, D, E, F, G, H, | 3T ) U ufda & qiRas Y i 7w
FIH A B

. B 3R F AT PRI WX AT a5 &

II.G, D H I da1¢ 3 H, J & et T daT B

. E 3R A F AT IR gfFa &

IV.1, B 3aTH § IF, DHcfAur A g1
V.J,ARDFHTAZIRG, EIFFNT AL

VI. H 3R cF AeT reafaa €



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Who is sitting at the seventh place counting from left?
(a) H (b) C (c) J (d) Either H or C (e) None of these

Who among the following is definitely sitting at one of the
ends? (a) C (b) H (c) E (d) Cannot be determined (e) None
of these

Who are immediate neighbours of I1? (a) BC (b) BH (c) AH
(d) Cannot be determined (e) None of these

Who is sitting second left of D? (a) G (b) F (c) E (d) J (e)
None of these

If G and A interchange their positions, then who become
the immediate neighbours of E? (a) G and F (b) Only F (b)
Only A (d) J and H (e) None of these
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